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. Which of the following is an example of intergenic gene interaction?
L Multiple alleles +(B) Co-dominance
somplete dominance (D) Polygene

sch one of the following is NOT a disadvantage of self pollination?
a:ope for developing improved varieties (B) Progeny becomes weaker
senetic stability can be maintained \)D) Less adaptability to climatic variations

reaction of photosynthesis is a cyclic process as is regenerated.

’." (C) Glucose (D) PGA

is the approximate size of nucleus in a typical mammalian cell?
meter (B) 1.2 meter (C) 10-4 meter (D) 10-6 meter

» tumns of Krebs cycle the number of NADH2 molecules produced is
(B) Five \(/C),«Four (D) Three

uch one of the following enzyme cuts the DNA within the specific positions?
clea (B) Alkaline phosphatase
3ction endonuclease .(D) Reverse transcriptase

SCOMPOSETs in an ecosystem are
oph \}B)microconsumers (C) macroconsumers (D) abiotic components

weh of the following represents the correct sequence of nucleic acids considering their
sme molecular weight?

: A -tRNA-rRNA, (By DNA -mRNA -rRNA-tRNA

RNA-tRNA-mRNA (D) DNA —tRNA-mRNA-rRNA

=rs of family Crassulaceae is regenerated from starch during night.
» Enol Pyruvic Acid \)B) Pyruvic Acid
Aad (D) Oxalo Acetic Acid

- one of the following plants reproduces vegetatively by epiphyllous buds?
pua?}B) Potato (C) Onion (D) Kalanchoe

wra, Tolypothrix and Nostoc, _are the sites for Nitrogen fixation.
s (B) arbuscles (C) akinetes_ ) heterocysts




